Jlacr 1 Ymeepoicoaro
Kommipeccop BO3AyIIHBIA HOPIIHEBOW % P
KBII-1-2100-50 — 11.4.
Ne HauMeHoBaHHe K 21 BriximrouaTens B cOope 1 32 Canyn B cOope 1
1 BHET coenuanEHb 5 21.1 | BunT M4x21 4 32.1 | KoJBLO PE3UHOBOE 1
pe3bba M10x12x50 21.2 | raiixa M11 1 (013-017-25) 60 | ®unsTp B cbope 1

2| Koneco @12x147h39 2 21.3 | nanan ! 32.2 | canyn M16 1 60.1 | xopryc (pe3sba 1

3 Taiixa M10 4 21.4 | ocHOBaHHE 1 33 VYIJIOTHUTENb KPBILKY 1 M20x1,75)

4 Ilaii6a 10 ) 21.5 | mpoksaska pe3uHoBast 1 34 Bunt M8x22 1 60.2 | mpokianka 1

5| o 21.6 raiika M4 4 35 laryn 1 60.3 KpBIIIKa 1

6 Bunt M5x13 4 21.7 | GJIOK BBHIKIIIOYATEJIS 1 36 Boauno 1 60.4 | Bunt camopes 4x15 1

7 Tepexomunk M13xM10 1 21.8 | xopmyc 1 37 | Ock @12x39 1 61 | TpyOka HarHeTaTenbHAs 1

8 | KombIo pe3uHoBoe 1 219 | sunt M4x10 1 38 | Konpuo cronoproe 2 B C‘fope Oonbuast

(004-007-19) 22 TpyOka HarHeTaTenbpHAS 1 BHyTpeHHee J12 61.1 | mraiiba 2

9 Kianaun 1 B cOope mManas 39 [Nopmiens B cbope 1 61.2 | raiika coemMHHATEIbHAS 2

10 | Onopa nepesss ) 22.1 | tpyOka 1 39.1 | mopurens @48, h=35 mm 1 (pe3nba M17)

11 | Boxr M8x25 5 22.2 | raiika COeIMHUTENbHAS 1 39.2 | KOmBIO CreNHaNTbHOE 1 61.3 | TpyOka 1

12 Taiixa M8 2 (pespba M10) 39.3 | xombLO 2 62 Mogmmnauk 6202 RZ-1 1

13 Pecupep 50 1 1 22.3 | raiika coeMHUTEIbHAS 1 40 ITpoknazka 1 (15x35x11)

14 Manowmertp (pe3pba M10) 2 (pesbba M11) 41 Humaap 1 63 Sxops 67 1

15 IpemoxpaHuTETbHBIH 1 224 | BTy/Ka yNOpHas 1 42 tudt D3x6 2 64 Moaummnunk 6204 RS 1

Knanan B c6ope 23 Knanan obpartHbIit 1 43 [nactuna 1 (20x47x14)

16 | Pexykrop B cOope 1 B cbope 44 | Kopnyc B cbope 1 65 | Ulaii6a npyxuHHas 3 2
16.1 | xopmyc 1 23.1 | xopmyc (pe3sba coemume- | 1 44.1 | xopmyc 1 66 | Bunr M3x6 2
16.2 | sarnymika 1 HW ¢ pecuBepom 1/2") 44.2 | KonbLo IPYyKUHHOE 1 67 | 1laii6a npyxunHnas 4 1
16.3 | npyxuna 5,8x15,4x0,44 23.2 | BTYIKA 3an0pHas I BTYJIKH 3AIIUTHOI (BTYIIKa 68 | Bunt M4x8 1
16.4 | BTynka pe3]’/IHOBa;{ ’ 1 233 | TIpyxuHA KOHMMECKAA 1 HE [10Ka3aHa) 69 | Crarop h=70 Mmm 1
16.5 | KOJNBIIO PE3UHOBOE 1 12,6x15,2x17,2x0,7 45 Bontr M12x16 1 70 Tabnnuka 1

' (010-013-19) 23.4 | KONBLO PESHHOBOE 1 46 | Taiika M8 4 71 | ®nasern 3agHuii 1
16.6 | BTy;nKa NpOMeKyTOUHAS 1 33 1(211712 ;Olfr'ﬁ;)u — ; 47 | Bunt M8x25 4 7§ Koub1io cronopHoe 12 i

: ~ 48 Konpencarop 1 7 BenTunsitop
107 E{g;g_lé)gg_e;g)ﬂ opoe : (pe3pba M20) 5 30 Mmx®/220B (pe3nbda M8) 74 [Tait6a npyxuHHAS 5 4
168 | prymxa ] 24 mpoBoAHUK 3x1,5MM 1 49 TIpoksTajika HIKHss 1 75 Bomr M5x100 n
16.9 | mpyxwuna 12,8x24x2,5 1 25 BTymga KZ??OB” 1 50 IInacTuHa cnenupanbHas 1 76 Koxyx 3aimmrHblit 1
16.10 | perynsarop 1 26 (é)e% a ) 7 51 ITnanka Tomm. 0,3Mm 1 77 Bunt M5x12 2
17 ITyuep (pe3sdba M13) 2 Tyjka SaKHMHAA 52 [Tanka Tonm. 2,5MM 1 78 BunT camopes 3x15 2
i 2 27 Jlenectox 1 53 [Ipoknanka BepXHsis 1

18 HJ{EI};E CelTZB;H 3x1,5mm % 1 28 Hakoneunuk 2 54 Burt M4x8 > Coznacoeano

19 HBTYJIKa E 1 29 | Pyuxa I 55 | Illaii6a npyxunHas 4 2 Huowcenep Ilempos B.I'

20 Brynka pe3pboBast 1 30 Kpeiuika s cGope 1 56 [aii6a 4 2

(pe3pba M19) 30.1 | permka 1 57 Toy0BKa IIWIIHH P 1 w
30.2 | unaukaTop 1 58 Bonr M 8x100 4 3am. nau OTO Knéukun A.B.
31 | Bamr Mox14 6 59 | Yronox (M20x1,75/3/8") | 1




Kommpeccop

KBII-1-2100-50

23.5 23i3 23'




